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(FR29EE) (Bifz: M)
#ER B LEFEREAN BIEEREB) HERE(A)-(B)
SEINIE 5,845,959 5,872,489 A 26,530
Y FHE IR 643,627 759,022 A 115,395
| || REREHE RN 31,490,872 25,061,349 6,429,523
S LN 191,428,067 177,990,659 13,437,408
£ FEINE 14,016,123 11,765,442 2,250,681
BELINE 0 99,909 A 99,909
F (N ERRE IS 22,092,381 21,621,311 471,070
= Z DD IR IE 1,514,411 1,434,817 79,594
‘ H—E R FEEURERET(1) 267,031,440 244,604,998 22,426,442
) A5 141,948,651 133,145,907 8,802,744
EXE 89,177,286 78,880,754 10,296,532
b B \zng 9,453,252 9,132,347 320,905
. Bir&E A 12,652,345 12,416,094 236,251
i HEHEAZE 269,818 331,924 A 62,106
| B 3,131,863 1,487,729 1,644,134
(BEHEMEEEREL SR A 243,080 A 279,993 36,913
e Y—E XFEEHE R 256,390,135 235,114,762 21,275,373
H—E X EEHEBEEER)=(1)-(2) 10,641,305 9,490,236 1,151,069
o Iz E B E RV E 272,362 336,070 A 63,708
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S H—ERFESNIREEETA) 272,362 336,070 A 63,708
% THFIR 150,417 0 150,417
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-
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2 H—EREFNERTG) 150,417 0 150,417
8 H—ERFHINMERELE6)=(4)-(5 121,945 336,070 A 214,125
FEEBEZT)=(3)+6) 10,763,250 9,826,306 936,944
| UX
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b 45l UREEET(8) 0 0 0
| 2 EE & ETEE - LniE 0 10,583 A 10,583
A =
E Hpl E FHEH(9) 0 10,583 A 10,583
4 Rl BB ZE 2E(10)=(8)-(9) 0 A 10,583 10,583
LHE S ESE(1)=(7)+(10) 10,763,250 9,815,723 947,527
) BRI R BN IR Z%E(12) 95,770,104 85,954,543 9,815,561
# SRR By IR RE 28 (13)=(11)+(12) 106,533,354 95,770,266 10,763,088
T HEAREMAEZE(14) 0 0 0
! H L HRAREE(15) 0 0 0
% ZDDIE L2 IREEZ(16) 0 0 0
1 ZODIE TS ETE(17) 84 162 A 78
b5 RERIEIE BN R E2E(18)=(13)+(14)+(15)+(16)-(17) 106,533,270 95,770,104 10,763,166
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